5.6 # 8
In the World Series the Americans league team (A) and the National league team (N) play until one team wins four games.  If the sequence of winners is designated by letters (NAAAA means the national league won the first game and lost the next four), how many different sequences are possible?

6.2 # 18

Suppose that five nickels and five dimes are tossed and the numbers of heads from each group recorded.

a. Describe the sample space for this experiment.

b. Describe the event “more heads on the nickels than on the dimes” in terms of the sample space.

6.3 # 8

Which of the following probabilities are feasible for an experiment having sample space {S1, S2, S3}.

a. Pr (S1) =.4, Pr (S2) = .4, Pr (S3) = .4

b. Pr (S1) = .5, Pr (S2) = .7, Pr (S3) = -.2

6.4 # 28

A couple decides to have four children.  What is the probability that they will have more girls than boys?

6.5 # 28

Let Pr (F) > 0.

a. Show that Pr (E’/F) = 1 – Pr (E/F).
b. Find an example for which Pr(E/F’) =/ 1- Pr(E/F).  (the = sign and / sign are combine together I just couldn’t do it on the computer)

7.1 # 12

What is the probability that a freshman selected at random in the fall of 2004 planned to obtain a medical or law degree?

